
EI Write the number 3
.

52J = 3.5232323
.  - -  as a

fraction
.

3. 525 = 3.5  t ¥ ,

t
t

.

t .
- .

= 25 t

2,3g
,

( It ftp.t You t Foot - . . )

:-.
; t Fo

. ( it t Kal
'

that't - - I

-

-ItII2

-

-

z t ( ÷
.
)

=
7

+ I 102
-

-

2 103 99

= I t I
2 990

= 1744495

EI Is the series ?? 22 "

. 3
" "

convergent?

n

am
. in .

.

.
! Hi . in "

. ¥ .

.

÷:
'

. aan "

So this is  a geometric series where the common  ratio > I

⇒ divergent



EE Compute III.IT

Goal : Rewrite  as geometric series
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the Series diverges
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Note " A series  where the middle terms

Cancel in pairs  is  called atelescopes
.
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Ey Show that II IT is convergent .
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( Basel 's Problem)
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